1a.)

b.)

d.)

V36 =6
v100 = 10

V8
=4 x+/2

V12
= /4 x/3
=23

V18
=/9 x /2
= 32

Ex 11.1 Page 100 No. 1a-1,4, 5

f.)

MEMO

V50
= /25 x /2
= 52

V52 4+ 122

= /25 + 144
= /169
=13

V102 — 82
= /100 — 64

= /36
=6

i)
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MEMO

Ex 11.1 Page 100 No. 1a-1,4, 5

A 9 c §
e e i YO B 1.0
22 = 225 7 \-= L T o) A S ‘—‘_2_7_(_):/‘—
L Ao AB = sur20
3,512= 15°+b %\:haﬁ ; A el 324 unios & v

s2l = 2295 -rbz
1521 - 2256 = 52
1296 = b*
b=.36_



AT MEMO

E 15
- Ex 11.1 Page 100 No. 1a-1,4,5
Statement Reason
2 12 GH? + FH? = GF? Pythag
24 (15)%+(g)*= 257
225 + g% = 625
? g% = 625 — 225
: g% =400
Jg% = /400
F g =20
Statement Reason
EGZ + EFZ — GFZ Pythag H]Z + F]Z HFZ Pythag
(7)2+(24)2: 82 (12)2+(h)2 202
49 + 576 = eZ 144 + hz 400
625 = 2 h* = 400 — 144
h? = 256
V625
66_ 2E - Ve VhZ =+/256

h=16



MEMO
Ex 11.1 Page 100 No. 1a-1,4, 5

Area EFG = %bh

Area EFG = %(24)(7)
Area EFG = 84

Area EFJHG
Area FGH = %bh (Total Area)
E 1
Area FGH = 5(20)(15) — 84 + 150 + 96
Perimeter Area FGH = 150 = 330 unitsz
=24+16+12+15+7
=74

Area EFG = %bh

Area EFG = %(16)(12)
Area EFG = 96



15

34 b E

30 D
61

65

a’ + 30% = 342 Pythag
a’? +900 = 1156

a’ = 1156 — 900

a’ = 256

a=16

162 + 122 = b?
256 + 144 = b?
b? = 400

b =20

20% + 152 = ¢?
400 + 225 = ¢?
c? = 625

c =25

252 + d? = 652
625 + d? = 4225
d? = 4225 — 625
d?> = 3600

d =60

60% + e* = 61°
3600 + e% = 3721
e’ =3721 - 3600
e’ =121

e=11

Pythag

Pythag

Pythag

Pythag



B 12 C TOTAL AREA

A : ?19212)(16) - 42-32
% o] abadit Siaden v 1750
A= %(30)(16) ks c25 =%
= 240
30 D A =2(25)(60)

=750

Perimeter
=34+30+65+11+61+ 15+ 12



MEMO S Solve for x and y
Ex 11.2 Page 102 No. 3

a.) 10 + 4% = x> Pythag

X
100 + 16 = x?
116 = x?
P X = Zm
R
42452 = y* Pythag
16 + 25 = y?
41 = y?
y =41
Q
c.) Show my calculation that ST = TQ b.) PQ = x = 229
TQ? +TR? = QR®> Pythag QR =y =41
TQ? + 52 = VAT Adjacent sides of a kite are equal
TQ? = 41 — 25
TQ? = 16

TO = 4



Homework
Revision Exercise
Page 105

(No. 5)

5a.) Calculate x,y and z.
b.) Classify AABC

c.) Calculate the area of
ADBECF, showing all
necessary working.

24

17

16

12



